







Attempt the checks by giving headings. Also add relevant examples against checks.
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Relate your headings with the statement of the question.
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Clearly enlist the arguments by giving subheadings which show the power of military before and after the failed coup.


Not properly addressed.
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Short and incomplete answer.


Add around 12-15 main arguments for the question.


Work on paper presentation.
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Add examples against your arguments from past.


b i ' . /'},
o1 - Tht {ackOt i~ Jlicaces

: L ({4 'L g i

[ e o .-‘ - R L "( __‘, _—rr— :_’- .d‘_r-__ . | ;

- § oL L DLy 16 4
/;:A. ¥ _
o
-y







b othy ¥ i A
sm\\;\m t\L!\\lhk S

L taup
-

Vo QUA P
8 : \ \( &’”Pb\ e 'LQN‘\WL i ; %-ﬂ
- &%\m dﬁ\ { n ad ?CL | ! M’d s
| ;q g e \fn@«—»o\ﬁld W
| “Addumors
: 5 EL m Umﬁr
}_t_/q"“f sk Ay 48

" Quaud - }I ﬂ*:‘-‘ﬂf““f‘-

| Lt & ASE Patentan
Attempt: ach

ih

CE&},,««FL ks For S : e

L © EL e 4 g e ru,o‘ -

T-L;.f'.,(r da¥  facirt am M A CJ m.i% P
t a JUal eagam}o& @ﬂ wmﬁétm;_
ca sdotidad acth yuakinn exdol. 9f
o) ) CRlntry 02Ot hant. ’*“"”f] sl atifio
U cth © Adat sl Htan . ¢ R
PEC). Covnet  Aoh u;&fé B tUnka®
’ _ CRumkils- _.

we L 4

_ — (entludbmi= In 0 4@ Cancludle,
Ot (Am o thak Ghow ane g
. %OLC/HGM ale@ dernal olihe,
e that Q%ech

.


Add more arguments.

Attempt each question on 7-9 sides of a page.
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